AP CALCULUS AB MARCH 19, 2020

1. Determine whether the function is differentiable, continuous, both, or
neither at the value where the rule for the function changes.

z2 +13z -5, >3
f(z)_{um-g, z <3

. The function is not continuous and not differentiable.
The function is continuous only.
' The function is continuous and differentiable.

 The function is differentiable only.

2. Find the derivative of

y = In(—4z® — 7z?)
. Given f(z) = 3tan® (z), find f'(z).

4. For the function f(z) = —4x? + 6z — 10, find the equation of the
tangent lineatz = —12.



Given the graph of the function f below, determine all intervals on the
open interval (—9,9) where f'(z) < 0.
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